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2.246 x 10000 = 2.821 x 10 =
6.131 x 10000 = 5.216 x 10000 =
4.89 x 10 = 1.915 x 10000 =
8.415 x 100000 = 3.846 x 10000 =
9.169 x 10000 = 8.695 x 1000000 =
4.111 x 1000000 = 8.877 x 100 =
8.607 x 1000000 = 5.787 x 1000 =
8.547 x 1000 = 1.836 x 1000 =
7.354 x 10000 = 3.661 x 1000 =
5.904 x 100000 = 5.955 x 1000000 =
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2.246 x 10000 = 22460

6.131 x 10000 = 61310

4.89 x 10 = 48.9

8.415 x 100000 = 841500

9.169 x 10000 = 91690

4.111 x 1000000 = 4111000

8.607 x 1000000 = 8607000

8.547 x 1000 = 8547

7.354 x 10000 = 73540

5.904 x 100000 = 590400

=LA

2.821 x 10 = 28.21

5.216 x 10000 = 52160

1.915 x 10000 = 19150

3.846 x 10000 = 38460

8.695 x 1000000 = 8695000

8.877 % 100 = 887.7

5.787 x 1000 = 5787

1.836 x 1000 = 1836

3.661 x 1000 = 3661

5.955 x 1000000 = 5955000
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